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QUESTION 1

Which statement describes the effect on an index, when the indexed column for the rows is updated in the base table? 

A. An update in a leaf row takes place. 

B. The index becomes invalid after the update. 

C. The leaf block containing the row to be updated is marked as invalid. 

D. A row in the leaf block of the index for the key value is logically deleted and a new leaf row is inserted. 

Correct Answer: D 

 

QUESTION 2

Identify the two situations in which you use the alert log file in your database to check the details. (Choose two.) 

A. Running a query on a table returns "ORA-600: Internal Error." 

B. Inserting a value in a table returns "ORA-01722: invalid number." 

C. Creating a table returns "ORA-00955: name is already used by an existing object." 

D. Inserting a value in a table returns "ORA-00001: unique constraint (SYS.PK_TECHP) violated." 

E. Inserting a row in a table returns "ORA-00060: deadlock detected while waiting for resource." 

Correct Answer: AE 

 

QUESTION 3

Which four are true about the tools used to administer Oracle databases? (Choose four.) 

A. SQL *Plus can be used to create databases 

B. DBCA can be used to upgrade databases 

C. RMAN can be used to start up Oracle instances 

D. SQL *Plus can be used to start up Oracle instances 

E. SRVCTL can be used to shut down Oracle instances 

F. Data Pump can be used to load data from text files 

Correct Answer: ABCD 

 

QUESTION 4



Which two statements are true regarding transactions in an Oracle database? (Choose two.) 

A. Multiple transactions can use the same undo segment. 

B. A transaction is assigned an undo segment when it is started. 

C. More than one transaction cannot share the same extent in the undo tablespace. 

D. The transactions use system undo segment to store undo data if all the segments in the undo tablespace are used. 

Correct Answer: AB 

 

QUESTION 5

You plan to move data from a flat file to a table in your database. You decide to use SQL*Loader direct path load
method to perform this task. The table in which you plan to load data in an important table having various integrity
constraint defined on it. 

Which constraints will remain enabled by default during this operation? (Choose all that apply.) 

A. CHECK 

B. UNIQUE 

C. NOT NULL 

D. PRIMARY KEY 

E. FOREIGN KEY 

Correct Answer: BCD 

 

QUESTION 6

Which statement is true about the UNDO_RETENTION parameter when retention guarantee is not enabled? 

A. It is the time period after which the undo data becomes obsolete. 

B. It is the time period after which the committed undo data would be transferred to a temporary tablespace. 

C. It is the minimum time period up to which the committed undo data would be retained if free undo space is available. 

D. It is the time period after which the undo data is transferred to the Flash Recovery Area to provide read consistency. 

Correct Answer: C 

 

QUESTION 7

You are installing Oracle Database 11g on a machine. When you run the installer, the Universal Installer 

(OUI) shows the message that says one of the product-specific prerequisite checks has failed: 



Checking available swap space requirements ... 

Expected result: 1512MB 

Actual Result: 1018MB 

Check complete. The overall result of this check is: Failed
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